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BACHELOR'S DEGREE PROGRAMME (BDP) 

Term-End Examination 

December, 2014 

FST-01 : FOUNDATION COURSE IN SCIENCE AND 
TECHNOLOGY 

Time : 3 hours 
	 Maximum Marks : 100 

Note : Question no. 1 is compulsory. Attempt any seven 

questions out of Question no. 2 to Question no. 9. 

1. (A) Fill in the blanks with appropriate names, 

	

words, terms or phrases : 	 5 

(i) The first evidence of Indus Valley 
Civilisation came from the discovery of 

	

two great cities, 	  and 

(ii) Gandhiji's term for 'self-reliance' which 
he preached and practised was 

(iii) The adrenal medullary hormone which 
increases heart beat and respiratory 
rate is 

(iv) A galaxy is 	  

(v) The intelligence quotient or IQ is 

	

defined by the formula, 	  
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(B) Given below are the names of great 
scientists and their discoveries or 
contributions. Match them. 

Names 	Discoveries / Contributions 

(i) Robert Boyle 	(a) Blood circulation 

(ii) Isaac Newton 	(b) Gas laws 

(iii) John Napier 	(c) Ridges and 
valleys on moon 

(iv) William Harvey (d) Logarithm table 

(v) Galileo Galilei 	(e) Universal 
Gravitation 

(f) Natural Selection 

(C) Give short answers for the following 
questions (in not more than 50 words each) : 20 

(i) Why was the Roman phase of Iron Age 
marked by stagnation of Science ? 

(ii) What is meant by the term 
`Cybernetics' ? 

(iii) What is 'solar wind' ? 

(iv) Name in a sequence the four main 
stages of human evolution. Which out 
of these showed bipedal posture for the 
first time ? 
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(v) Differentiate between chemical 
evolution and biological evolution. 

(vi) How does feedback mechanism check 
water loss from kidneys ? 

(vii) How did the ozone layer get depleted ? 

(viii) What did Ivan Pavlov conclude from 
his experiments with the dog ? 

(ix) What is a balanced diet ? Name four 
items in a meal which would make it a 
balanced meal. 

(x) What is a "systems approach" in the 
use of science and technology for the 
welfare of the society ? 

2. Name the various non-conventional renewable 
resources of energy. Of these, write briefly about 

	

any four such resources. 	 2+8 

3. (i) Explain six ways by which water bodies of a 
country get polluted. 

(ii) How does aquatic fauna get killed due 
to (a) heavy metal pollution and 

	

(b) eutrophication ? 	 6+4 
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4. 

Given above is a figure, based on which the 
following questions are given. Answer them. 	10 

(i) What ecological phenomenon has been 
depicted in the figure ? Define it. 

(ii) Select and name some organisms and use 
them to prepare a food chain with four 
trophic levels. 

(iii) State the terms for the trophic levels, 
naming the components of the constructed 

food chain. 
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(iv) What happens to the energy flow through 

the constructed food chain ? Who gets the 

least energy and why ? 

(v) Name the principal source of energy for any 

ecosystem. Is it a renewable or a 

non-renewable source, and why ? 

5. Till the mid-sixteenth century, science in India 

was more or less at par with that in Europe. 

State in detail the reasons which retarded the 

growth of science in India thereafter. 	 10 

6. (i) "Agriculture is the bedrock of the Indian 

economy." Justify the statement. 

(ii) Write brief comments on the basic resources 

for agriculture in India. 	 4+6 

7. State the role of 'communication' in promoting 

education. In what ways can education be 

imparted to all children of our country, poorest 

of poor and those in remote corners of the 

country, through communication technology ? 	10 

8. What is 'Technology Transfer' ? Explain briefly 

the three ways by which technology may be 

transferred. 	 10 
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9. Write short notes on any four of the following : 	10 

(i) Protein Calorie Malnutrition 

(ii) Semiconductors 

(iii) Comets 

(iv) Genetic Engineering 

(v) Resource Mapping 

FST-01 	 6 



tiltich 441121 chl 'till (*.t.ift.) 

Trgiff trfIVI 

14th-cif, 2014 

: 	3* 511F11 	MQ 3TTUTT 41 ZISh+1 

: 3 WIJ 	 31r11---drl31w : 100 

adz: 3777 6(94/ 1 31,4174c* / SM.1 <f<941 2 4 r)ch< 	fi(.941 

9 UW g A7-ef PM' 31,54 drff 	007.  / 

1. (A) Rm 	 hill,•RTI, 1:1-41 74-r 

alcrikil 	: 	 5 

(i) f 141 	 A171M 	514-flu' 4) 1:w-is  
7r-0, 	 
(g-1,4 	Riot I 

(ii) `3TF-4-1-43-ke * 	Tri*ItTtT cell TRIF 
kle<, rATIW 	74-01 rce41 311-{ Trr4 

3Tcr4 al-wur > * 
	WT I  

(iii) 3TRT-1--4* NI-to) 	* -4-0-1 A li-rku 
111a a1r11 0119. 	aqq-k-Lic-r 3T Kati-1 

t 

(iv) 3lT*74Tri1TT 	 t 

(v) 11T alltaT IQ AI NTIT 	To, 
	 -gm t 	t 
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(B) .414 To I-11-1, 4 	Act: 	41-R A 34't -a--  
3194-41 -34 z4rr-qr4 f'c 7 t I .3-1.4,1 -R:r7R 

1 

(iv) IalrlgH 	I 

(v) i 	csig 'rff—d't 

(c) 1:14-11ZiRgd Nq-1.1 * ,irlk Tixl.  (AA 50 TO' 14 
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(i) rk Tr 	li-H -cRui . cltl.1 -NTR A 
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(ii) `.11*eRP.ct*I' trq -w- -TErt 3T2i t? 
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(iv) H 	Ha fa-wru 	'qR ArjU 3T-4RIT3A 
911-111k aTI:f f-AR I 	•-14 A.  Rbki 3-T-a-T-P-1 A 
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(v) tIkilei 1-4-*--Ff 	%WM ai-dT 

mcii* 

(vi) 73-kur "Sfurrd't gild 

1-4.4i-grq anti ucnii f+---zrr Aim 
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(vii) Atq trT T 3Tqu-4 	31T ? 
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4g-r—d-ff 31-17(   ? 
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2. ,i),51 * fel.Tq 	 -1.11chunei *IPA 	TIT 

fffrI347 *-14 	 14-ffripl 	Ti4cr 
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2+8 

3. (i) 34 	 ce1lt9041 ttr--A7 N9-4 1*-1:11 
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4. 

4)4R 	c4I1 TrZrf t, 	r tR 3TrtTritff 	Nx4q 
41-4 147 TIC  t 3-14)1 31k trAR 1 	 10 
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VZ4 RIR --d-qR 
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(iv) cHii 	tgiti-tEfM A t--*-T 4)'I1- 1 T 	r 	FT 

? 	 rtt) 	 srm 1c11 t 

4;111 ? 

(v) 	 %ft trfti  	 d T RT 
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	 err 	404 A 	I fo{R  
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6. (i) "cpRi iTrca4 3P 

	

	WT At 31-RTRD-rffr t I" Tq 

-RT-z *=f-A-R 

(ii) 	A  	1-Z-R -101-1ff *rrtTql tR -44F1 

P.LAi uleir fo-ruR I 	 4+6 

7. fiT4-1T 	 iLignT ffF4R I faRgR 

t

▪ 

 i 	Ilt •11%.4)1141 	 Trift 

t4T i74-4 roi0 > ift 7 4 

• — fiRIT RtAi mchit sicH Ar 	dl ? 
	

10 

8. 
,

51  uiPIQ T-A-Riffk-ur ZrT 	 ? 	-NW 

Tifai-Fr I 00-11t9ell Arr7R N-414 	1:9-trdtdftd 

fla.)41 
	

10 
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9. 	(Ad 	-4 -Wei- 	wrf 	TATIzr dug 'mil' 
fffrw : 	 10 

(i)tt-4 	TOEfDT 

(ii)  

(iii) -ffft 

(iv) 3-7 	1-c4, aftrWr 

(v) NIT IF imir► iut 
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